Math 201 Quiz 6B
October 14, 2014

Name: A NISw AN

Instructions: No calculators. Use your own scrap. Write your fully simplified answers in the space provided. Assume
all given functions ae differentiable.

1. Complete the following formulas (you may write f to mean f(x) and g to mean g(x)): 07 ; a !
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2. Use limits to define the derivative of a function f(x): -~ ()= h—=>0 ~ I il S o X-a
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(iii) Take the limit to obtain the final answer: f'(x) = ¥:” 4x)*
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4. For the function in problem 3, find the equation of the tangent line when x = 1. ~" + 1= (X—1)
5. Find the derivative of the following functions:
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(b) State the formula for the linear approximation of a function f(x) at a point where x = q; i.e. what is the
linearization of f at a?:
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